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O3S HE3(AMEHIZ) 2,500,000
OZdas=E F=784| 2,500,000
0B BIVIEEEHNN=2HES 1,000,000 1,000,000 0
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2A:

Aot AIE A

HH: HLEE(MGHETAIL)
SH9l LSO AXI B (4Gt T AR A) CERED
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O3S dEs(HE2HXE) 1,000,000
OX a2 A& EAY 1,000,000
oS IESEIHEES 4,294,095 4,960,800 2666,705
701 JIEtI HSHES 4,294,095 4,960,800 A\B6B, 705
2 SIIEEEAHNBYTES 3,585,595 3,098,000 487,5%
O3INIHSLEIHNNES(BAXE) 3,585,595
03 SIIEEEAN=2HES 708,500 1,862,800 A1,154,300
OB IESLIANHES(MHEXE) 708,500
FENESEIANDES 62,257 44,287 17,970
701 JIEtRI HSHES 62,257 44,287 17,970
01 JIE=I AN ES 62,257 44,287 17,970
FEIHNESENTES 62,257
Olt==H?830t+Xcl Al 23| 62,257
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